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Mitochondria

Cellular respiration occurs in plants, animals, or both?  _________________________

Cellular respiration breaks down ______________ to release ____________ energy.

Equation for Cellular Respiration:





2.  ________________________





What part of the cell (organelle) does the second stage occur in?











Aerobic respiration because it requires __________________.





What molecule does the cycle use that was made during glycolysis?











What does the cycle accept from that molecule?











What is made as waste and released into the atmosphere?











How do humans release this waste product?








What is made and used as energy to run other reactions?








What other product is made and what do they do?








3.  _____________________


________________________


What part of the cell (organelle) does the third stage occur in?








Aerobic respiration because it requires _______________.





What thing does this reaction use that was made during the last two cycles?











What else is needed for the reaction?








Where does this come from?











What is formed as waste during this reaction?











This waste product is either _________ by the body or given off to the ______________________.





What is the other product made and how many?














1.  _______________________





What part of the cell does the first stage occur in?














Anaerobic respiration because it requires no ___________________.








What is broken down in the reaction?














What process originally made that molecule?




















What three things are made by breaking down this molecule?











